
Homework A 5 due Jan 28

I a) Let F be a Seifert surface for some knot K C S3
. Push the interior of F into DY

. Show that

IT , of the complement of this new surface in D " is 7h .

b) Let F be the punctured torus shown below
, after the interior is pushed into 134 .

Argue directly Ci . e . without using any surgery I Kerby diagrams ) that the

boundary of the complement is the 3 - horns S
'
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La ) Redo How 5.2 . c using Kirby diagrams -

HW 5.2 - c : If O a
,

u Ozu - - - U Ok is a collection of ribbon discs for an n - component link

L
, give a presentation for the ribbon group

IT
, ( D " to )

.b)Show that the boundary of a ribbon disc complement for a knot K  is a Dehn
surgery

on K - what is the frowning / Dehn surgery coefficient ?

Angre that the same is the for a slice disc for K
. ( Recall that a slice disc for K

is
any smooth D2 - D

"
with 2 D2 -

- K - In fact , any flat D2 - D 4 with 2 DE K also

Suffices . )


